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QUESTION 1

An OSPF ASBR must have at least one interface in the backbone area (area 0)
A. True

B. False

Correct Answer: B

QUESTION 2

Which part of the NSAP address is used to indicate to the end system that a packet is to be processed by the router
itself?

A. AFI

B. IDI

C. HO-DSP
D. NSEL

Correct Answer: D

QUESTION 3

Which of the following best describes the type of packets used by OSPF routers to exchange updates on a point-to-
point link?

A. IP packets sent to an IP multicast address.

B. TCP packets sent to an IP multicast address.
C. IP packets sent to an IP unicast address.

D. UDP packets sent to an IP multicast address.

Correct Answer: A

QUESTION 4

Click on the exhibit.
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*H:R3¥ show router route-table ipve

Area 49.02 [Fr— R L

IPve Route Table [Router: EBase}

i S B I N O S N S I
Dest Frefix[Flags] Type Proto ke Pref
Next Hop[lInterface Name] Netric
1:/0 Remore ISIS 00h1Bm06s 15
FES0;: :624F;: 1FF:FEOL:3-"coR1" 100
2001:DBB:1::3/128 Local Local 00h24m03s o
system o
2001:DBB:1::4/1z28 Remote IS5I5 00hi6mS6s 15
Lf!‘Lz L‘fﬂ.? FESD: 16252 :FFFF:FEOD 141 ~-"EoR4" a0
. 2001:DBB:1::6/128 Remote ISIS 00h12m0l1s 15
J¥ FESO0: :624F:1FF:FEO1:3="CoR1" Z00
) No. of Routes: 4
Rz\'.ﬁ:R'l# show router route=table ipvé
. ) == EEEsECEssEss=as
Area 49.01 1Pv6 Boute Table (Rowser: Base)
- A
Dest Prefix([Flags] Type Proto hge Pren
Next Hop[Interface Name] Hetric
T
: t3/0 REemote ISIS 00k1Tmiza 15
R4 FEB0:{5250¢ 1FF: FEO1:3="EaR2" 100
Z001:DBE:1::3/128 Remote I3IS 00h1TmO5s 15
FESO: ;6251:FFFF ;FEOQ: 141-"toR3" 50
2001:DBB:1::4/128 Local Local O0hZ3imads o
Byatem o
2001:DBB:1::6/128 Remote ISIS 00hOOniZs i5
FEBO: ! 62501 1FFI!FEDL1:3~"EOR2" 200

MNa. of Routes; 4
Based on the topology shown and the route tables of routers R3 and R4, which of the following is correct?
A. There is no route leaking configured on router R1 or router R2.
B. Route leaking is configured on router R1 but not on router R2.
C. Route leaking is configured on router R2 but not on router R1.
D. Route leaking is configured on both router R1 and router R2.

Correct Answer: D

QUESTION 5

Click on the exhibit.
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10.10.10.1/32 10.10.10.2/32
2001:DBB:11::1/1218 2001:DB8:11::2/128

e
“ Area 49.0001
L2

Area 49.0002
L2

10.10.10.3/32
2001:DB8:11::3/128

The routers have an established IS-IS L2 adjacency on which IPv4 system addresses are exchanged. An operator
successfully configures multi-topology IS-1S routing so that the IPv6 system addresses are also exchanged between
routers. After IPv6 has been configured, which of the following is TRUE?

A. Router R2 has two 1S-IS-adjacencies and two LSPs.

B. Router R2 has two I1S-1S-adjacencies and four LSPs.

C. Router R2 has two 1S-IS-adjacencies and three LSPs.

D. Router R2 has four IS-IS-adjacencies and six LSPs.

Correct Answer: C
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